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Question [

(2 Points)

O ol the following matrioes s o ow eclelon form but is

mof in reduoesd row eclielon form
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Question [
(2 Points)
i & & X by
Sumuw.l::[-l -4 -.‘l].::[r,] i b= | by
n T I4 Fy b,y

The condition(s) an &, b; aml b; s that the system
Arxr = b is consintent is{are)

(A) by = Thy + Thy, by + by = 0 anl by = 0

(B) by = =Ty 4 =Ty

(T} The system is consistent for any by, by and b,
(D) by = Ty + Ty

(E) by = Th 4 Ths und b, + b; =0
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O of the following matrices s in row ocholon Torm b

T BB duced row o haelon form
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Question [T}
(2 Points)

Consbdir the followlng svstesn ol espumt o
xr 4+ i+ =3
- I F 1
(i =0z = (k+3)
This systom is inconsistent i

(Alk==3 (Blk=3 (Clk=-3ork=3

Dk #3 (Ej kgt =3ork #£3
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Question [T}
(1 Point)

ITAlsabx 2 matriz seel B s a5 x 3 matrix, then
(A) (BTA) Is a 3 x & madrix
(B) (H"A) Is a 5 x 3 matrix
(CHIB"A) a3 = 2 matrix
(D) (BTA) s a 5 x 5 matrix

(E) (BT A) s umbefine]

O (A)
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i s Eaare with A 124 = ), Lhen

IfAma
L1 A b invertible with A dA + 24

(H) A s invertible with A 12A + 31

(C) A s invertible with A ° |+ 12f

(I3 A & lnwvertible with A A+ 6

J L is not invertible
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